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Fluent in

1) 1,879 +2,472=
2) 55x8=

3) 147:7=

4) Lof72=

5) 46-29=

Word Problem

Jim’s frike had three
wheels. In one year, due to
accidents, his Mum had to

buy him 265 different

frikes. How many wheels
was that alfogether?

Explain it

Maisie goes to a Karate class which starts
at 11.30am. How long does she have to
get ready? Explain how you know.

"2

Challenge

A baker has three bags of flour. Eachis a
different weight.

The first and third weigh 11kg fogether.
The first and second weigh 7kg together.
The second and third weigh 8k fogether.

What is the weight of each bag of flourg
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Fluent in Five

1) 1,879 +2,472 = 4,351

Word Problem

Jim’s frike had three
wheels. In one year, due to
accidents, his Mum had to

buy him 265 different

frikes. How many wheels
was that alfogether? 795

2) 55x8 =440

3) 147+7=21

4) Lof72=24

5) 46-29=75
Explain it

Maisie goes to a Karate class which starts
at 11.30am. How long does she have to
get ready? Explain how you know.

" 1 hour 20 minutes

Challenge

A baker has three bags of flour. Eachis a
different weight.

The first and third weigh 11kg fogether.
The first and second weigh 7kg together.
The second and third weigh 8k fogether.

What is the weight of each bag of flourg
Bagl =5kg Bag 2= 2kg Bag 3= ékg.





